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Factorisation in respect the following determinants are very useful and should be
remembered.
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CRAMER'S RULE : [Simultaneous Equations Involving Three Unknowns]

Let 5 ax+by+cz=d, (D
— axtbytc,z=d, (1) ; =21 o= 2= ?
— a;Xx +byytc,z=d, ...(I1)
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J&7 If D#0and alteast one of D, D,, D, # 0, then the given system of equations are
consistent and have unique non trivial solution. e
W LDz 0&D =D,=D, =0, then the given system of equations are ccrnsmtent and
have trivial solutlon only»/
L If D= D,=D,=D, =0, then the given system of equations are consistent and have
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a, X +by+c,z=d, — Mt gt a2 -A:
a,X+b,y+c,z=d,p represents these parallel planes then also
a,Xx +b,y+c,z=d T

In case

3
D=D,=D,=D,=0 but the system 1s inconsistent. ( &0 &OJVD

\Ld)/ If D=0 but atleast one of D, D,, D, is not zero then the equations are inconsistent
= ) _*_
and hav have no solution.
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MULTIPLICATION OF TWO DETERMINANTS
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Similarly two determinants of order three are multiplied.

Here we have multiplied row by colum. We can also multiply row by row, colum by row and colum by
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Ifa, b, cx, v, z € R, then prove that
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7x —Ty+5z=3
3x+y+3z=7
2x+3y+5z=5
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